0907231 Digital Logic (Fall 2008)

Quiz 1A
الاسم:




رقم التسجيل:
 

رقم الشعبة:

===========================================================================

Instructions: Time 10 minutes. Closed books and notes. No calculators. No questions are allowed.

Q. Convert the following number from the given base to the other three bases listed in the table:
	Decimal
	Binary
	Octal
	Hexadecimal

	2592.5
	101000100000.1
	5040.4
	A20.8



A20.8 to Binary is 1010 0010 0000 . 1000

To Octal
5
0
4
0
.
4

Hex to Decimal 
A*16*16 + 2*16 + 8/16 = 2592.5

(One mark for each answer)
Q. Prove the identity of the following Boolean equation, using algebraic manipulation (Z’ is NOT Z).


XY + XYZ’ = XY


XY + XYZ’
= XY ( 1 + XYZ’





= XY ( ( 1 + Z’)





= XY ( 1





= XY



(Three makrs)
<Good Luck>
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